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Question (5 pts): 

1) Let’s say you have 4 coherent light sources (lasers), positioned along x-axis. Each emits light of the same frequency in the same direction x and with an optical field of the same amplitude E0. You place a detector at some position x0. What are the highest and the lowest possible light intensities (i.e. Etotal2), in terms of I0=E02, you can observe? What phase differences would these values correspond to?

2) Now replace the lasers with incoherent sources (light bulbs).  What are the highest and the lowest possible light intensities (i.e. Etotal2), in terms of I0=E02, you can observe?

